Chapter 17 - The Atomic Nature of Matter Preliminary Assessment

MULTIPLE CHOICE. Choose the best answer and mark the appropriate space on the Scantron.

51) If one neutron is added to a hydrogen nucleus, the result is __________

A) hydrogen.
B) boron.
C) lithium.
D) beryllium.
E) helium.

52)

A) nitrogen. B) carbon  C) helium  D) neon  E) none of the above

53) How many electrons can the innermost shell of an atom have?

A)8
B)6
C)4
D)2
E)O

54) When a nucleon is electrically neutral, it is called ___________

A) a neutron.
B) a proton.
C) an electron.
D) an isotope.
E) an ion.

55) Nearly all the elements heavier than hydrogen that occur today were created  _________

A) at the same time the universe was created  B) in the deep interior of stars  C) in the center of Earth D) by collisions in deep space E) at the same time the solar system was created

56) What makes an element distinct?

A) The number of protons  B) The number of neutrons  C) The number of electrons  D) The total mass of all the particles  E) none of the above

57) Elements that are side by side in the periodic table have one more or one less __________

A) proton.
B) nucleon.
C) electron shell.
D) isotope.
E) ion.

58) Compounds are made of molecules.

A) Always true
B) Sometimes true
C) Always false

59) Which is the smallest particle of those listed below?

A) A molecule
B) An atom
C) A proton
D) A nucleus

60) Atoms combine together to form __________

A) nucleons
B) ions
C) elements
D) molecules
E) isotopes

61) The reason a granite block is mostly empty space is because the atoms in the granite are ________

A) in perpetual motion

B) mostly empty space themselves

C) held together by electrical forces

D) not as close together as they could be

E) invisible

62) Which element makes up over 90 percent of the known atoms in the universe?

A) Hydrogen
B) Oxygen
C) Nitrogen
D) Carbon
E) Water

63) There are about as many atoms of air in our lungs at any moment as there are breaths of air in

A) a large auditorium  B) a large city   C) the United States  D) the whole world  

E) none of the above

64) At the center of every atom is a mass-filled region called the ___________

A) nucleon
B) neutron
C) nucleus
D) ion
E) proton

65) The reason nuclei don’t pack together more closely is ___________

A) that there isn’t enough room between atoms

B) that it is not allowed according to an exclusion principle

C) because of large electromagnetic repulsion forces

D) because of large nuclear repulsion forces

E) because outer electrons form a hard, impenetrable shell

66) There are slightly more than 100 known atoms that combine to form all living and nonliving matter that we know about. These atoms are called ___________

A) isotopes
B) nucleons
C) molecules
D) ions
E) elements

67) Sometimes an atom has more or fewer electrons than it does protons. Such an atom is called __________

A) a molecule.
B) a compound.
C) an ion.
D) an isotope.
E) an element.

68) How many different elements are in a water molecule?

A) One  B)Two  C) Three  D) Four   E) none of the above

69) To see a molecule you should use __________

A) an extremely detailed optical system

B) an electron microscope

C) short-wavelength light beams

D) a conventional microscope looking into another microscope

E) none of the above

70) Nuclei of atoms that make up a newborn baby were made in __________

A) the mother’s womb

B) the food the mother ate before giving birth

C) ancient stars

D) the earth

E) none of the above

71) In an electrically neutral atom, the number of protons in the nucleus is balanced by an equal number of ___________

A) neutrons

B) pions

C) orbital electrons

D) all of the above

E) none of the above

72) Brownian motion has to do with __________

A) the size of atoms

B) atomic vibrations

C) the first direct measurement of atomic motion

D) random motions of atoms and molecules

E) rhythmic movements of Brownians

73) Most of the matter of the universe is in which phase?

A) Liquid

B) Solid

C) Gas

D) Plasma

E) Superconducting

74) Protons, neutrons, and electrons combine to form __________

A) nucleons
B) isotopes
C) quarks
D) atoms
E) all of the above

75) Elements that are above or below each other in the periodic table have one more or one less __________

A) proton.
B) nucleon.
C) electron shell.
D) isotope.
E) ion.

76) Which of the following is NOT a compound?

A) Air

B) Ammonia

C) Water

D) Salt

E) All are compounds.

77) Solid matter is mostly empty space. The reason solids don’t fall through one another is because

A) atoms are constantly vibrating, even at absolute zero.

B) of nuclear forces.

C) of gravitational forces.

D) of electrical forces.

E)none of the above

78) What determines how atoms combine to form molecules?

A) The number of protons

B) The number of nucleons

C) The arrangement of electrons

D) The configuration of electron shells

E) all of the above

79) If we doubled the magnifying power of the most powerful optical microscope in the world, we would __________

A) be able to see individual atoms

B) be able to photograph individual atoms, even though we couldn’t see them

C) still not be able to see an atom

80) Assuming all the atoms exhaled by Julius Caesar in his last dying breath are still in the atmosphere, then it is likely that we breathe one of those atoms ___________

A) with each single breath
B) every day

C) every month
D) every 10 years

81) Which of the following atoms is the most massive?

A) Hydrogen

B)Iron

C) Lead

D) Uranium

E) All have the same mass

82)

A) positive.
B) negative.
C) neutral.

TRUE/FALSE. If true, mark “A”, If false, mark “B” on the Scantron

83) A nucleon can be either a neutron or a proton.

84) Isotopes are atoms that have the same number of neutrons but different numbers of protons.

85) The number of protons an atom has in its nucleus is the same as its atomic number.

86) A periodic table is a chart that lists all the elements by their atomic number and their electron arrangement.

87) A nucleus contains particles that are generally classified as electrons.

88) Atoms and molecules are in a state of constant agitation known as Brownian motion.

89) Electric charge comes in two kinds.

90)

91) There are only about 109 different molecules that combine to form all the materials we know about.

92) Atoms are mostly empty space. However, at the center of an atom is a mass-filled region called the nucleus.

Answer Key
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51) Answer: A

52) Answer: B

53) Answer: D

54) Answer: A

55) Answer: B

56) Answer: A

57) Answer: A

58) Answer: B

59) Answer: C

60) Answer: D

61) Answer: B

62) Answer: A

63) Answer: D

64) Answer: C

65) Answer: C

66) Answer: E

67) Answer: C

68) Answer: B

69) Answer: B

70) Answer: C

71) Answer: C

72) Answer: D

73) Answer: D

74) Answer: D

75) Answer: C

76) Answer: A

77) Answer: D

78) Answer: C

79) Answer: C

80) Answer: A

81) Answer: D

82) Answer: A

83) Answer: TRUE

84) Answer: FALSE

85) Answer: TRUE

86) Answer: TRUE

87) Answer: FALSE

88) Answer: TRUE

89) Answer: TRUE

90) Answer: FALSE

91) Answer: FALSE

92) Answer: TRUE
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